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Q.P. Code :11572

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.

N.B: 1. Attemptany five questions selecting not more than three from any each section.

2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Section -1

Attempt any two of the following :
a) What are the types of price leadership? Discus the low cost price leadership model.
b) With the help of kinked demand curve hypothesis, explain price rigidity in oligopoly.
c) Explain Prisoner’s dilemma strategy in Game Theory.

Attempt any two of the following:
a) Show how factor price is determined under perfect competitive market.
b) Discuss the Modern Theory of Rent.
c) Explain Risk Bearing and Uncertainty Theory of Profit.

Attempt any two of the following.
a) Discuss the attainment of a general equilibrium in production.
b) Explain marginal conditions of efficiency in exchange in Pareto optimality.
c) Show the relationship between marginal conditions of Pareto optimality and perfect
competition.

Attempt any two of the following :
a) What is search cost? Explain the process of search cost.
b) What is adverse selection? Explain how market signaling can be used to overcome this
problem.
c) Discus the principal - agent problem.

Section 11

Attempt any two of the following.
a) Explain how the equilibrium income and interest rate is determined in 1S-LM model.
b) Show the relationship between slope of LM curve and effectiveness of fiscal policy.

c) Explain the trade-off between unemployment and inflation with the help of Philips curve.

Attempt any two of the following.
a) Discuss the Modern theory of international trade.
b) Explain, with the help of offer curves, the determination of equilibrium terms of trade.
c) Explain protective trade policy?

Attempt any two of the following.
a) Discuss how the demand for and supply of foreign exchange determine exchange rate.
b) Explain the relative efficiency of monetary policy under fixed exchange rate and perfect
capital mobility in Mundell Fleming model.
c) Explain the concept and causes for currency crisis.

Attempt any two of the following :
a) Explain the ability to pay principle of Taxation.
b) Describe incidence of taxation under different elasticity of supply.
c) Discuss the Coase theorem.
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